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A thick muscular structure beneath the lungs is called | _L._.-f'blyc‘ériﬁu;/f; |
Bronchus u‘u (D) Peritoneum ﬁ!d,ﬁ (C) Diaphragm (l/'tlj(B) Pleura gk (A)
Which plant produces resins? "c...l:';,«; > l::’l.-uf
Conifer & (D) Rubber % (C) Keekar £ (B) Tomato AU (A)

How many pairs of spinal nerves are present in human? St se in EZL };/'ﬂ.—u:u{il =3

330%¢ (D) 31 ZT(C) 18t (B) 12 v (A)
bl i O LYz -4
The hormone that increases the blood glucose concenteration.
Calcitonin diu’y (D) Parathormone u.vwm (C) Insulin u‘jr’! (B} Glucagon ufb")’ (A)
' The mature bone cells are called . ; ¥ _c_t{cﬂ)’d Zés 5
Osteoblasts u"" IJ;;;;’:J'{C) Chondrocytes ;,,':""lm.df (B) Osteocytes J*Laml (A)
| Osteoclasts U K5l (D)
Queen honey bee is - _ : :I:_G:tﬂdl(fcd:lf -6
Polyploid ¥4y (D) Diploid 443 (C) Triploid £1/ (B) Haploid £ 04 (A)
The position of gene on chromosome is called E : | ug;‘:;’?u'»&d{(rnf e
Chromatid 24/ (D) Centromere /32 (C) Locus ¥ (B) Karyotype w4, S A
True breeding means _ —e AL 8

; Homczygousu’glmx (D) Hybrid Jr/} (C} Hetarozygous u’a.?:/r (B) Homologous u";’fof (&)

The biotic component of an ecosystem is ' -4.:2».5.:’9%?"/:{% -9
| Water LH; (D) Soil (}’ (C) Producef /gh{ (B) Light (fu (A)
| It is an example of ectoparasite | - —eJefesiadl o 10
| | Bacteria | 2% (D) Virus U7 (C) Mosquito 4 (B) Ascaris /27 (A)
The enzyme used 1o dissolve blood clots is bl LW AL én ik 1

Urokinase 7wy {D) Endonuclease ; ziu":u;i (C) Amylase Zi! (B) Thymosin ¢#18 (A).
. e dedferdin sy 12
Soil J" (D) Bacteria L/;‘f?- (C} Plants <« (B} Fungi :j[?r’ (A)

Streptomycin is obfained from
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Q.No.2 Write short answers of any Five of the following &§x2=10 -é (ﬁbtlﬁ/ﬂﬁaufr &k c:-gﬁgf,ji'm 2/fUir

What is meant by feed back mechanism? Explain its types 5 _i..vu,o’ru"r&;r ?{..:ygapry'h’;_g,y (B)

What are lenticels? Write their functions. = é;*.'g rB’Z.L-,rI ? ujgﬂ'@-’ﬁf? |
Write the function of vocal cords. -'43?*5’5’)1;&1}?; ¥
Write any two symptoms of Asthma. _egmLﬂauLfJme r
What is guttation? fq_l:f‘f.?( v
Write the name of two parts of renal corpuscle. _éf'tﬁ.u:inﬁ B AR
Define stimulus. A
What is nerve impulse ? . et
Write the function of rods celt and cones cell in eye. -2{'%8'5’)%};5;!:3& LT A
Q. No.3 Write short answers of any five of the following 5x2=10 ZAeiiz L vy §laffits 340
What are tendons? Write its one function. dg{r‘lg Kt § v |
Differentiate between origin and insertion 3“ JMU}/IF»JI;@:I r
Define calluses. _zgd_y}J/M r
Write two disadvantages of vegetative propagation. -ggc,tuﬁ»f. J-fg;.;}..:d'; g
Define Mendel's Law of indepenent assortment. ..’é,-'.’...é'ﬂf..*.&érri WSS 5 TN ATy o B
What is difference between transcription and translation? i ?q.J)g;,Cu’M}AILﬁPU 1
What are nucleosomes? St radi| <
Define continuous variation , give one example. -iﬁ;dw;;l_éw;ﬂfauﬂ J’V A

t;'.l. No.4 Write short answers of any five of the following §x 2= 10-5;]-":.&{3/‘#’2.:,”!:*5;4_&;{}&” 4,?1)#:'
Define trophic level. A5
What is the difference between food chain and food web? S OU L ool 859 7
Define éomménsalism'. 2 * _af;’ ...g'/Ur}l’u:f r
Write two effects of deforestation. _gﬂ el lat] v

| Define biotechnology. -2y SaMggy| o
What is the function of restriction endonucleases enzyme? ?q_w"agb’f":il Jﬁ‘jﬁaicf'fﬁ; ]
Differentiate medicinal and addictive drugs. ' . EE0 NS T2t 12 Pl e
Define vaccination. ‘ -£...g;m/‘-"£§ A

(PaRT ),.,:4_9

NOTE : Attempt any two questions from this part 9x2=18 q_,d):)hfg}’..-.,ﬂlnm,dfa—btym T

Explain the two methods of dialysis 4 i geslfuR Ml A (A) - 54N

| Explain structure of seed. Draw its labelled diagram 5 -'_L_-E:U‘ ';ﬁu&}!". é@amlﬁ-ﬁvl{ &l ®

What is joint ? Explain the classification of joints 4 z;f.;ou,d'dxf._»mu’m el Veiz| (A) 64Uy

Describe the principal usage of important medicinal drugs 5 -zg’:’wgdwfdﬂ(g;»l@ﬁr (B)

Describe any four acheivements of Genetic Engineering 4 -z wgu&ﬁiybkaéfﬁjﬁﬂu@! (A} -7
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What type of blood ves_sels surrounds the alveoli ? - : ?u_gmr)"-ﬁhf Z,)J’LCCJU,:,&: o]
Capillaries z#"’ (D) Veins %3 (C) Arterioles HAT (B) Artery YAT (A)

Normal urine contains amount of urea. ..q..(]mlﬁ*lf Mu.ﬂ.....al.?;:dzt -2
| 117g/l (D) 95gll (C) 1.87 gl (B) 9.3 g/l (A)

Myelin sheath is formed by ' R ?+.Jx&4.;f(i“’u‘ct -3
Dendrites U*L4} (D) Schwann ceuskurr (C) Axons #1£1(B) Cell bodies 73F (A)

| Length of spinal cord is about . _q..d:fJLJ[,; /Jbb’d’b sl

30cm (D) 45cm  (C) 40cm  (B) 20cm (A)

in mammals the number of bohes in lower jaw | _Lamiﬂgfug}uté.jzuppty‘f -B
Four benes 71 (D) Three bones fiuf (C) Two bones 42 (B) One hone u:’J T(A)

Male reproductive part of flower is called - _q._b'M,.-ﬂ’LfA);f K% -6
Corolla s/ (D) Style J'L- (C) Stamen o (B) Carpel K (A)

bl Plodlen £8P ML oS -7

Which relationship is found in aflels of blood groups I* and 1°
A ; ki

imcomplete dominance u’a;.#;,};t (B) Co-donimance u"-"";if (A)

__ Complete dominance ,.Jlsd; (D) Recessive o (C)
" A definite combination of genes in an individual is called ...;J‘lef P A g 8
Breeds Ji.x (D) Hybrid 34} (C) Genbtype <47 (B) Phenotype: .,Y;-'e;é (A)
Th_e basic sotirce of energy for ail ecosystem is | _.{..,aj;jd;gK&}lé;L 5 .5 { rV“ =9
Sun . (D) Water L}L (C) Animals n’b (B) Plants <y (A)
Wthh one is the abiotic component of the ecosystem. ? ?c.l/uf 7.-?.{&@“’(“' 1 cv..u:JJ Lu). ~10
| Air I# (D) Carnivores (/K (C) Herbivore$ sz (B) Producers sl (A)
Cpmpléte map of human genome was published ' Jndbﬁ;)‘;(rrfduluﬁu’dv -1
| “42010(D) #2002 (C) 1902 (B) ~2000 (A)
=12

Mescaline is obtained from a plant B ' : - t‘blfd“‘bc:u c.:g._ffu"’k{#
Morning Glory U';:‘J;t (D) Cannabis J‘ g (C) Datura liz5 (B) Cactus J"gl (A)
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Q. No.2 Write short answers of any Five of the following  §x2=10 (a5 ol Pl iy Ga 58 240

Why is the larynx called voice box?

Sty o et

What is diaphragm? Write its fuction

AP s e

What is the effect of smoking on circulatory system? _Ef@lﬁ_ffr?l)"d}c')} +

What is guttation?

v.f_.g@f’ r

Give difference between afferent and efferent arteriole. _ e Ryt e Ml Aes i | o

Define refiex action and reflex arc.

-q'{_g/"'(f..ﬁf i J’]U“f"fg"} b ]

What is night blindness?

e Y et | <

What is acromegaly?

' ?q_gu&ygf A

Q.No.3 Write short answers of any five of the

following  5x2=10  (&zAeyiz il §iartditn) 3 )y

Differentiate between compact bone and spongy bone. -#%Muliémﬁdi-b%/ i
Write two examples of ball and socket joints. -egg}!h:Jﬁﬁ V(%7 I 4
What are corms? ‘;7.,99-;;( r
Write two disadvantages of vegetative propagation of plants. wé:.aatl.ﬁ» :ﬁﬁ‘%{ﬁ&: Ju»{ ~
What are nucieosomes? Tpﬁl_f)’fﬁ%& e

What is transcription?

Tlg y’ﬁﬂ} v

Define Mendel's law of independent assortment Ly ey i S ST k| 2

Write four examples of continuous variations.

~ ¢g Ui JkJ-'-L:‘U’y A

Q.No.4 Write short answers of any five of the following  5x2=10 (2 fekiz oL e M by L) 470

%

Define ecology. _:-f_f-g/"J&J;f (!
What is global warming? 'i“,-..!_._f\..f:ubJ:" r

Define commensalism. Give one example.

o f:ﬁd M)J'é\.—éj ,PTJ(‘/L’U’ Jr F

What is denitrification.

"4-%1’-"%)46 3|

. oy N af,
| Write the functions of restriction endonucleases and ligase enzyme -%Hl :f.(:l'/f ,cqi .uI};i:";::itlc)'(ﬂz o

- - J r-
Define fermentation. Write the names of its two types. -Eﬁg’tﬁ(uw({w J’féu.‘.’fl;d’-"} 1
Differentiate between antigens and antibodies. ..«’-;ébe}L,ﬁ Pz 2
. . "3 Jﬁg ‘f&'*’ '
What is difference between antiseptics and disinfectants ? e J/ YRV Wisig TS| A

C

(PARTII ) ppddoean )

NOTE : Attempt any two questions from this part 9x2=18 _éd’aﬂlm.a—_c;fc.;ﬂ,»ul O
Explain osmoregulatory function of kidney . 4 -&{dbvﬁdﬂ;ﬁﬁis’g:}’ (A) - 52 )iy

Define feed back mechanism and discuss its

pos. 5 2ok ISUE AL (B)

Define cartilage and explain its types.

4 szwu,g{rafﬁm.z{.gﬂd &y (a) -840

Explain germination of seed. 5 qif;»u;&ﬁ[.@ (B)
Write important cbjectives of genetic engineering. 4 _ -f:fgwkyﬂﬂ(l'lﬁ..f}'.‘.?’l L | () 7AN
Explain major categories of addictive drugs . 5 -g{yu,&»uuum!@g»mw (B)
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